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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct: fill that circle in front of that

question number in your answer book. Use marker or pen fo fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A i.»

Sl o e ke

Q.1 Questions /=i A B c D
e SBL (2, 3)

. - EURGAC R, ) I 1 I v
Point (2, -3) lies in quadrant:

2 -u!g_,- --------- fu»wéd/,l/;u‘(‘/ﬁéu:?)» -t et J{;» Lol
Equality of two ratios is called---------- : Proportion Ratio Congruent Average

5 .- PR R I - e N oF A <

" | Inatriangle, there can be only -------- right angle/s. Two Three Four One
-‘gdn---.- ------ eluiund ol uF et L LwovSola AU A 2FG Iy 1%

4. | Ifthe three altitudes of a triangle are congruent, then . o ted " led

the triangle is ---------- Equilateral Isosceles Right angle Acute angle
L1 AP tosF s i fole s &5 250 57 2B »

5, . el LSt s BT
Any point equidistant from the end points of a line Bisector Right bisector Median None of these
segment is on the ---------- of it: -

6. . —}L----.-J-"hd‘l‘/ﬂi{(o, 1) i( l., 0) bt& 0 1 N7 5
Distance between the points (1, 0) and (0, 1) is--—-- i
§F ot S b P e d i S5 dd Pois ‘

7. e e Sl Y oy G
The region enclosed by the bounding lines of a ¢losed Perimeter Area Union Altitude
figure is called ---------- of the figure:

(Pantinnad /DTM 7 S
(2)
Questions /.1 A [ B ] c ] D
e b S U S e et S LSS o s . ]
8. Diagonal of a parallelogram divides it into ---------- Y & ‘ 0
congruent triangles: Two Three Four Five
;i1 =2
W4V 1 [ 4] A 3 1 I3
. 3 0 =5 2 1 41|37/ -5 5
(1 2 a7 03 -5 1 2. o4 = = 0
The transpose of matrix is: -5 4 4 -5
3 0 -5

10. g R y o . .
The value of /'3 j§ «--e-remm-. ] !

11, e <LK log 19 0 1
The characteristic of log 19 is: 2 3

12 e lFR R ,.31)(5)(4 + 3x2yg?//;‘f 1 2 3 4
The degree of polynomial 5x* + 3x2y jgeremeeeev :

e QAP L5x2-1Txy - 12y

13. ! x+4Y),(52+3Y)|(x—4p), (5x = 39)|(x - 4p), (5x + 3 (56— 4
Factors of 5x- 17xy - 12y are: (x+4y),( P|(x—4p),( Y| (e =4y),(5x+31)(5x - 4y),(x +3y)

“ 13K 30xyz, 45xy, 15x2 " 5 .

: xyz 1 90,
LC.M of 15x%, 45z and 30xz is: B o0 g e
------ TEA600 wlic vl i C o w1 L1 9 2 ]
!:5- If the capacity ‘C” of an elevator is at most 1600 C = 1600 C>1600 C = 1600 C < 1600

pounds, thep---------- .
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Note: - Section B is compulsory. Attempt any THREE (3) questions from Section C but question No.9 is compulsory. S u A,_ / (\Q/y
SECTION-B /».»
2. Write short answers to any SIX parts. (6x2=12) e B lange S 2
4 0 7 a 4 0 7
i FA= B= || thenfind AB. P ABT A = B=| | S
2 -7 8 2 -7 8
ii. Findthevalue of xand yif x+iy+1=4-3i x+ip+l=4-3i S adSymx i
iil. Inthe form of a-+ib, simplifyit: (7 +2i)(=3 - 47) (7+2iX3-4i)-&F P da+ib i
iv. Calculate. log,3xlog,8 log,3xlog,8 -/ v
v. If log2=0.3010 then find the value of log32 EptedSlog32is log2=030101 v
6 6 3 .
vi. Rationalize the denominator. ——— 2 PR
V8 27 V8 27 "
3 3
2 -2 4
vl Evaluate: Z2 =22 if y=3, y=—], z7=—2 x=3,y=-lz=2/i DX i
xz Xz
viii.  Factorize: x* + 14x+ 48 Xt +14x+48. 874 viii
ix. Factorize: 1—64x’ 1-64x° 2557 ix
3. Write short answers to any SIX parts. (6x2=12) e lange 3
A . S 2 I, 1 1, -
i.  Find square root by factorization. — x* ~—~xy +— —x e xy+—y G S B
* Y 16" 127,36 e R
" e = 3 x-2 .
il.  Solve the equation. 8wl =-1 L . e SO S St B
3 2 3 2
iii. ~ Solve the inequality, — %x+5$1 - §x+5$1-éd’/_-,uu/j fi
iv.  Drawthe graph of y=3 y=3-t e Saslr v
V. Find the value of m and c of the given equation by expressing it -é(}"uf‘f Se s matli /, s y=mx+cf :,l,i/-éfd; v
in the form of y=mx+c: 4x-y+6=0 4x—y+6=0
vi.  Find the distance between two points: A(3,-5) , B(4,2) A@3,~5),B(4,2) _g{r,b»yudwm” vi
vii. ~ Find the mid-point between two points: A(4,2) , B(—6,—4) A(4,2), B(-6,~4) -5 il sbsn vl
viii. Whatismeantby S.AA=S5SA447? Se sl et i fziaf i
ix.  Define parallefogram. EEw s ix
4.  Write short answers to any SIX parts. B iz AL ,3;@)’ -4
I CD is right bisector of the line segment ABInthe given (525 ABL&E CD S et i
diagram. f m AB =6 cm, then find the value of m AL inmAB =6 cm
A B b= m LB m AL
ii.  Verify that 3cm, 4cm, 5cm are the sides of a triangle. SIS £ e ts Sem, dem, 3om St i
iii. ~ Define congruent triangles. o Y v i
iv.  Find the value of x in the given diagram. J NS AN A ]
10
v.  Verify that the triangle having the giving measures of et b PG Lt OIS L Pl S el v
sides is right angled triangle. a=16em. b =30em. e="34em
a=16cm, b=30cm, c =34cm ’ ’
vi.  Find the area of a square whose length of one side is 8cm. -+8chyJJé*,g,é’j£(P,§/Kd/ vi
viil.  Define altitude or height of a triangle. B StEaLet i
viii.  Define point of concurrency. FE s i
ix. Constructa AABC in which. ST LAABC  ix
mBC=4.2cm, mCA=3.5cm, m£C=75° mBC=4.2cm, mCA=3.5cm, m£C=75°
(PT0) D)




Note:-
5.(a)

(b)

6.(a)

(b)
7.(a)

(b)
8.(a)

(b)

@
secTioN-C vz S/ ~/—2}

,4,(5;U(9)/dw?,(4+4)uz ALy s &7z latrd 05 -

Attempt any THREE questions. Each question carries EIGHT marks (4+4). But question No.9 is compulsory.

Solve by crammer's rule. B S SIS
—4x+3y=8 ~4x+3y=8
2x-y=-1 2x-y=-1

(216) x(25)° A3

2 4
(216)° x (25)?
i P
(0.04)2

Simplify.

©(0.04)7

[0.7214 [0.7214x2037 g 3 3
Use log table to find the value of: 3 9;72_'65582_0;2 3— 0E _é,’)”offg..;yéd:e/,b’}

,cér""’:/_;(j x+y+z Jnxy+yz+2x=40 Xy + =64 /i

If x* 4 +2° =64 and xp 4 yz + zx = 40, then find the value of x+y+z.
Y X -2+ 40 S Esn$6F Y
44255 —12x - 242 +16x° 0P Cpi” Aok

Use division method to find the square rogt.of 4 + 25x™ —12x — 24x" +16x*

Factorize by factor theorem. x’ <%’ —22x +40

! | 2
Solve the inequality. 4 «%x >-7 +%\ 4 _Ex >-7 +Zx ,z’fd’fabl//

Construct a triangle ABC and draw its angle bisectors if ,fmbiug;f;LJll;iq,tAAlsc
mAB =4.2cm, mBC=6cm, mCA=52cm mAB =4.2cm, mBC =6em, mCA =5.2cm
Prove that any point on the right bisectorof aline  (8)  Lsuius, J i, ytduﬂ‘ébﬂ&ffﬁvﬁ S

segment is equidistant from its end points. |
K i@l s L

OR W
Prove that parallelograms on the same base and (f,dﬂf’é-whiwb‘ﬁdﬁlbll}wdﬂi’gI:/,wta'o”u{l St

between the same parallel lines (or of the same : ) 4
altitude) are equal in area. Susaait 3alysa b Lounlide s

(a)-5

(b)

(a)-6

(b)

(a)-7
(b)

(a)-8

(b)
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Note: -You have four choices for each objective type guestion as A, B, C and D. The choice which you think is correct: fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.
SECTION-A (i~
Q.1 Questions /s A B c D
1 -.L)];_/lé_//c"_(;‘yl it L/K&l:;b{l oy 2 o ¥
Aray has ----- --- end point/s. = One Two Three four
2B gt e I K LA o~ ; B %
2. | Adiagonal of a parallelogram divides it into -------- g = =4
congruent triangles. Three Two Four Frye
3 -‘at‘xtf(f.:” DB gy —— I P e i ) uf se é&
Bisection means to divide into -—------ equal parts. Two Three Four Five
4 -Lﬂiﬁ/‘LtﬁJf;g/Iﬁj -------- (C/Kb.?ﬁu/ ..{I » Uf /(_g
Aline segment has -------- mid-point/s. One Two Three Four
5 I P e Elbs ok (fLP /! JEI(T Ju 2z
Medians of a triangle are -------- Non congruent | Concurrent Congruent Equal
6. . -fadwﬁ ------- 90 ,;uﬂu’;/'fgvg By 515 T iy} e
éa?l‘gjdi'_'itim' having each angle faqual t0 907 is Parallelogram Rectangle Trapezium Rhombus
0
ereis J |
7 0.a (j)’ dly; P24 /-'oﬁ
a 0. . Zero Unit Singular Scalar
is called ---------- matrix.
0 a
(Continued/PT0) (o656
s 2
— e °
— Questions /=41 : 2 1
o i W 3
8 ; ; - 3
In ¥a_, the indexis -~ : — “ Lax107 1.4x10
- 755500014 14x10* 14x10
4 The scientific notation of 0.0014 is: = r g 5
| g mmmmmem— ,,mbfxzf +3xy+y ‘f/ 3 2 3
i . 3 UYL T g :
10. The degree of polynomial Xy +3xy+yd 1xe2) | (x=1,03x-2) | (- 1),(3x+2)
——/’”"_;_f_f_@maxz—xﬁ (x+1),0x-2) | (x+D,x
i1, 2 ; - N
tors of 3x° —x—2 are: ‘ o 5 -
s T LJsthusm,}” e S KU ZS aFSe ‘r”o‘{;m Product
S i ssion is equal to Sum Difference Qu
12.| The product of two algebraiC expre
the ------- of theirH.C.Fand L.C.M. - - x<10 x>10
i ;’n;u"/.c’mb""f‘;xﬁ x=28 x<
13. hen --------
1fx is no larger than 10, t R v
L bl (-43) Y I L
- Point (—4,3) lies in quadrant: ©, 1) -1, -1)
_._4———/4._—_—_———_—‘—4;— s
— e M2, 220, 0) S8 (g el 000 % * *
is. -124-1A-39
Li Midpoint of the points (2 , 2) and (0, 0) 1 A=l
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Note:~ Section B is compulsory. Attempt any THREE (3) questions from Section C but question No.9 is compulsory.

SECTION-B /1. Sl ~2-2Y

2. Write short answers to any SIX parts. (6x2=12) e F g 2
i A= B _()B}then find3A. B3N Tn A= B ﬂﬁ i
i Simplify. (x*)? = x> IO T A=Y
jii. Evaluate. (~i)° (=) EEedred i
iv. Findvalueof “x”if log,9=x log,9=x /’IZ_—((P.;EJ“)C” v
v.  Define scientific notation. A
vi.  Evaluate. Wy 36 if x=—4 and y=9 y=9usix=—4J ————szﬁ . el i
5(x+y) S(x+y)

vil.  Simplify. §/243x°y'°z" 3243x°y°20 L& i
viii.  Factorize. 27x° —64° . 275 —64)° &G viii
ix. Define remainder theorem. -’-:‘:”JfJJLJ/ Jix
3.  Write short answers to any SIX parts. (6x2=12) zhy Feli ALz ,gc,Jf -3
i.  Find square root by factorization. 4x* —12xy +9%" 4x7 —12xp+ 9y EE e B i S ik
ii. Solveforx. [2x+5|=11 Px+5|=11-Zpeddx i
ii. Solvethe inequality. 3x+1<5x—4 3x+1<5x—4 2 flan- 4 i
iv.  Draw the graph of equation. x =-3 x=-3 _é_udl/ Kbl v
v. Find the values of m and c of the given equation by expressing it in r,};/(‘fgb(c”’mpgéi_/ﬁwuﬁ y=mx+e Sl v
theformof y =mx+c : 2x—2y+4=0 dx-2p+d=0
vi. Find the distance between two points. A(2,-3), B(4, 1) A(2,-3), B4, 1) ~;{_fr,hf,1.audyﬂn,w',, Vi
vii.  Find mid-point between two points. A(4, 2), B(8,—4) A(4, 2), B(8,~4) _é(,hf HJ?,){;,@,, vii
viii. Define S.A.S postulate. Iy I T TS Ry ST

ix. Ifthe given figure ABCD is a parallelogram, then
find x and m.

e L Syt ABCDEW S F i

4. Write short answers to any SIX parts. (6x2=12) -é/, /’ .-,yz/‘""" Lz ,g:.&f 4

i.  Inthe given congruent triangles LMO and LNO,

find outthe value of unknown x and 7. \ A S EELNO A IMOUB S g

M N
m 12
ii. 2cm, 3cm and Scm are not the sides of a triangle. Give reason. Lo WS £ et Sem, 3em, 2em i
iii. Define similar triangles. gy Sl s i
N , N 10V3 . s ;
iv. Findvalue of x inthe given diagram. x g dlx SEGS v

V. Verify that the triangle which has the measures of the given sides -l a1/ Lt FOuHS e L P el St

is right-angled triangle. a =9cm, b =12cm, ¢ =15cm a=9cm, b=12cm, ¢ =15cm
vi. Find the area of a square whose length of one side is 6¢cm . -« 6cm Jg)Jé"’f_w.éép‘ijK&/ Vi
vii.  Find the area of the given diagram. ./ e 3K PO i
viii.  Define circumcenter. E IS i
ix. Constructa AABC, in which S RAABC  ix
mAB=4.8cm, mBC=3.7cm, m£B=60° mAB=4.8cm, mBC=3.7cm, m£B=60°
(PT0) =T0)
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Note:-
5.(a)

(b)

6.(a)

(b)
7.(a)

(b)
8.(a)
(b)

2
SECTION-C /v

S/l ~2-24

46389 iy F ALy, 2 ezl eyl « 37

Attempt any THREE questions. Each question caries EIGHT marks (4+4). But question No.9 is compulsory.

Use matrix inversion method to solve. ,éd’z,.;g )JF’[,U:!G‘
2x+2y=4 2x+2y=4

~6x+4y=7 ~6x+4y=7
. . a* an " a? a a*" é .

Slmpllf}’. (a’”" )(WJ(F} (a(+n1 a™ )\ g™t | /j

0.678x9.01 ¢ 3 7
Use log table to find the value of. D o T -‘5‘:1‘ #red ﬁ"”‘dd"ﬁ‘d A
0.0234 0.0234

I Y L SN B
27x 3x

1 32~ =7 then find the/¥lue of 275" - -
3x 27x

Factorize by factor theorem, x* '25%2= ». 2 X =2x x4 _édﬁif,wdg,iy
9" ~6x"+ 7x* ~2x 1oy sk
Use division method to find the square root of 9x* — 6x> + 7x2 —2x +]

Solve the equation, x +3i =2(x ~§) —6x x +§1 =2(x- é) -6x -éd’faulx

QD Ll bAPOR
m% =4.5cm, mQR = 3.9cm, mZR =45°
Jﬂlﬂld;L«-c;ui’JLE!bﬁbgl/:/,:.ﬁ’tigsu(frf’égat‘

Construct a triangle PQR and draw its altitude if.
mﬁ =4.5¢cm, mQ“R =3.9cm, msR=45°

Prove that any point on the bisector of an angle is

equidistant from its arms. d,%*é 8
OR b

-ufun/_l/,uf,?/a;ux/,l/,t,ﬁjf/;!;,wli'd:u?u;ﬁ/&lfgqlf

-l

Prove that triangles on equal bases and of equal
altitudes are equal in area.

(a)-5

(b)
(a)_6

(b)

(@).-7
(b)

(a)-8
(b)

-9
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